June 6, 2018 11:36 AM

$$\begin{pmatrix} dx \\ dy \end{pmatrix} = \begin{pmatrix} -1 & 2 \\ 1 & -3 \end{pmatrix} \begin{pmatrix} X \\ Y \end{pmatrix}$$

$$|Av = \lambda v = A - 1.7)v = 0$$

$$|Av = \lambda v = A - 1.7)v = 0$$

$$|Av = \lambda v = A - 1.7)v = 0$$

$$(A - \lambda I)v = 0 = (A - (-2 - \sqrt{3})I)(\frac{V}{V})$$

$$=) \left(-\frac{1}{1} - \frac{3}{2} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{1}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} \right) \left(\frac{1}{1} - \frac{2}{3} + \frac{2}{3} - \frac{2}{3} + \frac{2}{3} +$$

$$\begin{cases} (1-\sqrt{3})V_1 + 2V_2 = 0 \\ V_1 + (-1-\sqrt{3})V_2 = 0 \end{cases} =) \begin{pmatrix} V_1 \\ V_2 \end{pmatrix} = \begin{pmatrix} 1-\sqrt{3} \\ 1 \end{pmatrix}$$

$$(25)$$
 $(A-(-2+13)]u = 0$

$$\chi \approx \begin{cases} -2+\sqrt{3} \end{bmatrix} t \left(1+\sqrt{3}\right) = (2+1)$$

$$\chi \approx \left(1+\sqrt{3}\right) \leq (1+\sqrt{3}) \leq (1+\sqrt{3})$$

The Gith solutionis asymptotically Stable.

$$\frac{d}{dt} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} -1 & 0 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

1) Find agenula, cigemuches and write the general solution

2) Which term dominates?

1)
$$\det \begin{pmatrix} -\lambda - 1 & 0 \\ 0 & -2 - 1 \end{pmatrix} = 0 = 0$$

 $(-\lambda - 1) - \cdot \cdot (-2 - \lambda) = 0$
 $\Rightarrow \lambda_1 = -1, \lambda_2 = -2$

Matrix is trangular -> so the dragonal entries are the eigenvalue.

$$\begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 4 \\ 4z \end{pmatrix} = \begin{pmatrix} 6 \\ 0 \end{pmatrix} \Rightarrow \begin{pmatrix} 4_1 \\ 4z \end{pmatrix} = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

$$X = Ge^{-t} \begin{pmatrix} 1 \\ 0 \end{pmatrix} + Ge^{-2t} \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

 $\approx e^{-t} \begin{pmatrix} 1 \\ 0 \end{pmatrix} b_{10} -1 > -2$

-> 0 as + goes to induity.